Object-Oriented Analysis and Design

Team 5 : RDM Watch(Random Decision Making)

2040. Design
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2040.
Revision



Revision

e Use Case
- 0|2
Clear Timer -> Reset Timer

Change Current Mode -> Switch Current Mode

- %7t
Show Lap Time
Switch Alarm

- A
Delete Alarm
Get Time of City



2041.
Design Real Use Cases



Set Current Time - Essential

Use Case 1. Set current time
Actor User
Type Evident

Pre - Requisites

mode”} Time-Keeping AHE{ O OF $HC},

Typical Courses of Events

(A) : Actor (S) : System
(A) 23 section(Z %, Al &, 8, g)s HESch
(S) 3 sectionS ZQl
(A) sections =7 oLt
(S) 2tHO| 2O =Lt
(A) 28S 2=ottt
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Alternative Courses of Events

N/A

Exceptional Courses of Events

L|ne 3: Z section(X, &2, Al, &, &, &)O| SHA X0 M2
£ ':h:. section®| 22 S7HAI7| 10 SHAH X[ Of E':e*a._

sect|0n° w2 02 BHELL




Set
Current
Time

Use Case

1. Set current time

Typical Courses of Events

(A) : Actor (S) : System

1. (AMOHES ZH =2 8 EE=E T}

2. (S) X HHE A AlZHE 20

3. (S)'HEE Hwolrt,

4, (A)RE/STHESZ £2| 'W='go B7hLAE QBB
5. (S)'HEo ¢S B7HUAAlZICL

6. (A)ADHEZ =2 7{ME YR 0|52 ¥t

7. (S)'ES Zuwolrt,

8. (A)RE/STHES 8| &2 SIWLULE ¥t
9. (S)‘&EQUS BF7hEAAZICH

10. (A)ADHEZ &3 AME Y2 0|52 8F3iC}
11. (S) ‘Y2 Zwolct,

12. (A)RE/STHEZS &8 Y32 E7HEAE Q¥siC},
13.  (S)'¥o| A4S BIHEAA|ZICE

14, (S)'QY2 4 & A d ol et MAsot
15. (A)AD HEZ2 &2 AME ‘AR 0|52 8F3iC}
16. (S)‘Al'E Zuolrt,

17. (A)RE/STHEZS &8 ‘Al'gtel E7HEAE QHsiC}
18. (S)‘Al'el Zk 7 AN 71Tt

V4
H.
19. (A)AD HE
20. (S)‘®'= Zuelct,

24. (S)E2Q™= ._E'/’*J'/’O"/’AI'/‘E" OE T|mekeep|ng mode2| current
i E

time= 4 of & ClAZ ol BtCt.
Alternative Courses of Events Line 2 ~ Line21 : (A) MOHES =2 48 =2 E 2FIC}
Line 2 ~ Line21 : (S) Line 232 2 0|5 $tCt,
Line 22 : AD HHE S =2 Line 22 =0t A S @FsIC}
Exceptional Courses of Events Line 3: Z section(X, &, Al, &, &, 0| SHAX|0f =H3HZ

=Nl Ef:, section®| ¢t2 B7HAI7| 1L
sect|0n° o2 02 BHELL

SHA K| o ':e*
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Show
Lap
Time

Use Case 10. Show Lap Time

Actor User

Purpose StopwatchOf| Al & &l Lap Time2 £ 0{ &Lt

Overview StopwatchO| A 7| £ 3} Lap Time2 At|CH 2 EO{ =Lt
Type Evident

Pre - Requisites

Start stopwarch”?t Pause| O Q&= 2HE{f Of OFSHCE

Typical Courses of Events

(A) : Actor (S) : System
1. (A): Stopwatch LA|HX| AEHOM MOHES ZA &+
= |_—_|_‘

2. (S): OrX|gtofl X &=l Lap Time2 2O FELY.
3. (A): ST/REHEZ %% Ct..
4. (S): M/20| HHYE Lap Time= EO{ELL.
5. (A):MOHEZS % .
6. (S): MEE A7t 2212 Stopwatch| LA X| AFER
2 FO0pziot
Alternative Courses of Events N/A

Exceptional Courses of Events

Line 2 : M &El Lap TimeO| 9i= A2, No Lap Time2 S 23t
Ct.

Line 4 : OFX|2}0f & &l Lap TimeO|AM REHHEO| 52 2 X
SoZ HHEl Lap TimeS E2{2L}.

Line 4 : X 20| X{Z & Lap TimeO| M STHEO| &2 2<% OHX|
0to 2 XMZ&El Lap TimeS £2{=2Ct.




2042.
Define Reports, Ul and Storyboards



window-0 : default design

Time keeping
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window 1 : Time keeping

© ODEXCO® P [ 20200523 £
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window 2 : Stopwatch

OO0 X O P [ 20200523 £
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window 3 : Timer
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window 4 : Alarm

alarmNum / active, deactive
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window 5 : Decision maker

@ &) Ow 9 [ 20200523 £

~

~N




window 6 : World time
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window 7 : Select mode

A2 deactived mode
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2043.
Define Interaction Diagram



Set Current Time

H Push "Long MO™ H H
H decodeButtoninput{buttoninput) H
: edifTimeKeeping() i
1 displayCurrentTime() raturn 'Ll
M
bl H
P highlightGurrentUnit() H
loop ) [ buttoninput 1= "MOQ" ] i :
ot ) alt ) : Push "RE" :
H decodeButtoninput(buttonlnput) :
[ buttoninput r increasef) H
E‘ displayCurrentTime() '-_I']
H ! i Push "ST" :
E ] H decodeButtoninputibuttoninput) 3
[ 2. changeUnit() ' [ buttoninpul == "ST" ]
1 [ decrease() _E
L H | retum Ll
D 3. setCurrentTime() ' E displayCurrentTime() i i ) e T
K i :
. apt 1 Push "AD" E
' ! decodeButtoninput(buttoninput) s
selactUnitTima(} N
bW displayCurrentTime() -Ll
' highlightCurrentUnit() +
* :
1 saveCurrentTime() o




Select Modes

8 Push "Long AD" o
d ] decodeButtoninput{buttoninput)
E‘ displayModeList()
*
st Y , ’ ’
oystem buttoninput == "ST" H
alt [ o el Push "ST" »
it selectMode()

Actor
highlightSelectedMode()

1. selectModes(mode1, mode2, mode3 , mode4)

Push "AD"

getMode{up)
highlightCurrentMode()

[ buttoninput == "AD" ]

h 4

” Display("OK!")
break J [ buttoninput == "MO"

&& sizeofMode == 4]
Push "MO"

aL Amu

saveModelist()




i :RDMsystem :Stopwatch
Show Lab Time :
E Push "Long MO™ E E
: > !
E |dccadeBunanln put{buttoninput) .
E fetchLapTime(n) __E
E return lapTime[n]
1 display lapTime[n] i i i k
R ERLELAT ELLLL LR, d :
loop H i d
uttoninput 1= "MO"] : :
alt
: Push"RE" | 1 :
: i1 decadeButtoninput{buttoninput)
: getLapTime(up) L
H return lapTime[n+1] 'Ll
+_display lapTime[n+1] || jE==emmmmsaememmnrcneaiananns
1Gammete T i
' decodeButtoninput(buttoninput) :
: getLapTime{down) :
display lapTime[n+1]
R




2044.
Define Class Diagram



- RDMSystem

- available[4]: Mode
- disable[2] : Mode

- intdex : Integer

+ decodeB

put(l put): void
+ selectMode() : void

+ switchCurrentMode() : void

+ callPrevMode() : void

+ activateBeep() : void
+ deactivateBeep() : void
+ isActivated() : Boolean

= StaticTime

- alarmTime: Local Date Time

- isActi d : Boolean

+ getAlarmTime(): Local Date Time

+ setAlarmTime(time): void

4 + getisActivated() : Boolean
= Mode + setlsActivated(isActivated) : void
1 4 Extend
1 -
E ‘ 1 -
Exin 1 1 Extand:
Extends
1 1
1 1 1 1 <> 1

ot TimeKeeping E Timer = StopWatch = Alarm = DecisionMaker 8 WorldTime
- currentTime: Local Date Time - currentTime: Local Date Time ~lapTime[10]: Local Date Time - alarmList[4]: StaticTime - caseNum: Integer, - city[4]: String

+ editTimeKeeping() : void
+ increase():void

+ decrease() : void

+ selectUnitTime():void

+ saveCurrentTime() : void

- lefiTime: Local Date Time
- endTime: Local Date Time

+ editTimer() : void

+ increase() : void

+ decrease() : void

+ selectUnitTime() : void
+ saveTimer() : void

+ startTimer() : void

+ countDown() : void

+ pauseTimer() : void

+ resetTimer() : void

- startTime: Local Date Time
- savedTime: Local Date Time
= index ; Integer

- availTime : Local Date Time

+ startStopwatch() : void

+ resetStopwatch() : void

+ pauseStopwatch() : void

+ recordLapTime() : void

+ getLapTime(dir : int) : Local Date Time
+ clearStopwatch() ; void

- index : Integer

+ activateAlarm() : void
+ deactivateAlarm() : void
+ editAlarm() : void

+ increase() : void

+ editCaseNumber(): void
+ increase(): void

+ decrease(): void

+ saveCaseNumber(): void

+ getCase(): Integer

- timeDifference(4]: String

+ getWorldTime(dir : int): Local Date Time
+ getCity() : String[]

+ decrease() : void

+ selectUnitTime() :void

+ getAlarm() : Static Alarm
+ selectAlarm() : void




2047.
Performance

2040 Traceability Analysis
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